
TED (1s) -2002
(REVTSTON 

-2015)

SECOND SE,MESTER DIPLOMA EXAMTNATION IN ENGINEERING/
TECFINOI,OGY - MARCH, 2016

ENGINEERING MATHEMATICS - II
(Common to all branches except DCp and CABM)

,

marks : 100)

lTime :3 hours

PARI'- A
(Maximum marks : i0)

I Answer all questions. Each question carries 2 nrarks.

1. Finf ttre sum o{the vecbr? - i -Zi * t,i = _2i + 4.1+5 e ?: t -6j+7t.2 ol*o:l=i; ll 'nndx

Marks

3 Subrract [l ;J o",, l; t
4. Evaltrare Jj ,t G2 + 1) d*.

5. Irind the order and degreg of the differential eqtntion

(*|.-(#)0., * 4v=o

PART- B
(Maximum marks : 30)

il Ansrver any fivt'questions from the fbllowing. Each question carries 6 marks.

r' Given i: zi+ 3j +'at i = - i+ 3i+ Zi.ttaunitvectorinthe direcrion
of Ia + qi and xt + yj + ,f areequal, find x, y, z.

2' I-ind t'c coefficient of xr8 in the expansion nr (*o- -l-)".' '\ fl
3 ' Solvc the forlowing system of equations using detenninants. 2r + 3y * z = 172t -)' + 4z = 13. 3x + 4v- 5; = 3.

l3t2J

(5x2 = 10)
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5.

6.

Marks

Ir
4. Express the matrix A = I 2

[:
syrnmetric matrix.

4 5l
2 3l
i 0l

as the sum of a symmeffic and skew

al,

Evaluate f"' - cos4xt'o.rxdx.
J6

Irind the area of enclosed between the line 2x * y : 1 and the curve

y :.r2 - 6x + 4.

Solve dY + vcotx --. 2cosx. (5x6: 30)
dx

PART- C
(Maximum rnarks : 60)

(Answcr one fu\|qucstion from cach rlnit. Each fulI cluestion c,arriss 15 marks.)

U^*tt - I

m (a) F'ind the values of ), so that the two vectors 2i + 3i -.i-d 4t + 6i- )"e are :

(i) Parallel (il) Perpendicular

(b) Irind the workdone by the force F: t + Zi+ f acting on a particle which

is clisplaced foorn the point with position vector 2t + j + i. to the point with

position vector 3t + 2i * {i.
(c) trind the middle terms in the expansion of (x + 2y)7'

t ' \5 
on

iV (a) I:xpard lxr- 1) hinomialll'.' \ *21

(b) A force .Fr= 4i - 3 fporr., through the point 'l'r,r'hose position vector is

)i --? i+ 5?. Find the momentof forceaboutthe point'B'whose position
-J

vector is i - l)+ 'i-

+-41
(c) tf ; 3t + 2i- 2T and b : 2i + 3.i + t, Calculate :

(il (a' + t'l .li - b' ) (i, (f + b') * ti - t.'')

[JNrr - II

5

5

V (a) Solve for x, if =Q.

compute AII and BA and hence show

x+1 2

1 x+2
12
t 12

:l r:13
5 I [-r

a)
J

x+3

lr.
(b) rf A-. | '-'

l-4 )
that AIJ ! Bl.

(c) Solve thc systcm

r--y1z=4.

J

4

1

of ccluntkrns by finding the inverse of the coetficient tnatrix

2.r + r'- J:: 0- x't- t * : =2.
On
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-).

Vl (a) Find the adjoint of the matrix

I I o sl
(c) lf ,4= l-2 I 6l,corflpute A+ArandA-Ar-

l: 2 7l
syrnrnetric and A - lr is skew symmetric.

UNtr - IiI
(a) Evaluate :

O [sin2xct, (ii) [t* 2 *

eC(b) Evaluate Ii trsrd*

(c) Evaluatc ll )-2-- at
J0 x2 - x + I

On

e Cos2XVIll (a) f'.raluate I ,.orr* ,r* a,

(b) Evaluate :

(b) Solve -1o - +. 1 : o, * . 3

I I rl
| 2 3i
| 4 el

-3.

(ii) [r*,, " "21"*7d,

Show lhat A + Ar is

3+2

5

5

3+2

5

... .1*cosx(t) J@+sinxf

-i).ILI L(c) [:valuate I "'Jo '11 
+ sin2xdx

c12.,' ))olvc ,"r- = co.tec'x.
dx-

Sotve d]l * .! * -'1 = o.
dx I + 12

UNrr - iV
(a) Find the area enckrscd by the curve y : i and the straight lir-re y : 3x * 4. 5

(b) Obtain the volume of the solid obtained by rotating one arch of the curve

-)' 
: .rinr about the X-oiis.

(c) Solvc * !'** 3)'= 5."'.
dx 

0n

(a) Find the voiume of the solid lbrmed by the revolution of the area bounded by the

parabola !2 ... 25x, the x-axis and the lines x : 1 and x - 2 abclut the x-axis.

5

5

(b)

(")

5

5

5

Marks

5

5

5

5

dx
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